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2 IZDWTDHRER (a+ 0223+ 20+ c)x2+6x+2a—c=0 (a, b, cl3EE) OENx=1 FIIDLX, a, b, ¢
DfEZRD &,

BE (a+b0H)x34+ (204 c)x’+6x+2a—c=0 ---D&BL,

1) a+b’x0 D&%, Oik(r—1y°=2"-3x*+3x—1 =0 LFAE

2 IZIDWTDEHEDRRE B LT, a+b0%=2, 20+c=—6, 2a—c=—2
IhefEle, (a, b, ¢)=(-7,3, —12), (-2, —2, —2)

2 a+b2=0, 2b+cx0 D%, Olk(x—1)?2=x2-2x+1 =0 LFEE

2 IZDWTDEEDRBORE AU T, a+b2=0, 2b+c=-3, 2a—c=-3

SHERCE, (a, b c)=<_7¢2m, S —4¢m> CEERIE)

3) a+b°=0, 2b+c=00D,%, Oidx—1=0L[FE ZDLX, 2a—c=—6

SIER, (a0 0= (T IED 13 1) e

MEZEEDBE, (4 b o) =(-T,3, —12), (=2, —2 —2), <‘7¢2m, ligﬁ, —4¢m>,

<‘7Tr2m, 1ijﬁ, —1¢m) EEAE ®

(2022/5/1 Ya—h—)



